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1. Overall Description:

RAN3 during discussion on the Release 5 work item on “Node B Synchronisation for UTRA 1.28 Mcps TDD” noted that the bursts that are used for measurement are different for 3.84 Mcps TDD (Bursts on PRACH Timeslot) and 1.28 Mcps TDD (Sync Channel (DwPCH) Bursts). Although the same WG3 messages can be modified to carry the information necessary for 3.84 Mcps bursts on PRACH Timeslots, and 1.28 Mcps sync channel bursts, the CRNC functionality that generates the messages has a great deal of differences. For example the PRACH timeslot burst synchronisation requires the CRNC to schedule both the sender and receiver of the bursts and broadcast the PRACH schedule to prevent UEs from using the RACH at those times, and a synch channel synchronisation requires only the scheduling of the receiver, but has to possibly be scheduled along with UE positioning measurement and IPDLs. Therefore an RNC that supports both 1.28 Mcps and 3.84 Mcps has to implement different algorithms to perform the same function. 

RAN3 has also noted that the TR for 3.84 Mcps (25.836) does not discuss why the PRACH timeslot bursts were chosen over sync channel bursts) and that the approved contributions for the TR for 1.28 Mcps (25.868) do not discuss why sync channel burst were chosen over PRACH timeslot bursts. Therefore it is unknown whether there are physical layer reasons that the current burst choices have been made. 

Additionally given general RAN guidelines to align, as much as possible, functionality in the various modes it should be possible to implement the synchronisation function using the same basic algorithm, unless there is an inherent physical layer difference between the two modes that leads to the necessity of different bursts. 

2. Actions:

To RAN1

ACTION: 
 RAN3 asks RAN1 to either:

· Verify and/or document that physical layer differences result in the need for different bursts to be used for Node B synchronisation, which therefore mandate different RNC algorithms for the different modes.

· Or attempt to align the bursts that can be used for Node B synchronization by for example, defining the PRACH timeslot burst for 1.28 Mcps TDD or by generalizing the sync channel measurement so that it can also be used as an option for 3.84 Mcps TDD.

3. Date of Next RAN3 Meeting:

RAN3_25
26 – 30 November 2001
Makuhari, Japan.

